
C6\1az0s + Oz + HzO ----?4to,46 3L 4t,ot

4-hr"J" , s-Plzn

1-----3--/
M 

I i--\ 
t-pwu'ft{

o
0,o 2

o'lo

tD

o,zl\

;,
3ooo

rdlh

o'1t

vur

1. 
tvo,l6

f .\z * m3we3

?.tg,oz+wtwrtr
wot'ul

lMq Wg')

h3 wr:

lu3+ l^a1

'*'!ff *
y"t 

7

lcrt+,,r0)
f &zoz)

( lt,0)

(r[i,u)

C6 H12 O,
4q6/6

\rVc?

wpl

vJu,

wo't

W,

+ Hro,
th,d

q+1 weri,^dcLl

] Glcnu'
2x Aw,'=l

47" 0r233'w, = 4t l'4/4(D@

wB3

A-
B.
c

b

F

F

6

A6ilp0 e

oz

H,o

C6111101

l{zDz

Nz

p.,d U{L

wFl

h,tl

3ooo 'OtoZ =

i)a 4r =

3ooo' Or2o -

( m1L =

{ rt,o1 =

+)' o,af tu =
ot 215

Ag
3ooo + il,nl 

s

,,\.a WBr* WCS = 4

I{tulo'

wol = 0p24+0

\v rt t o,oo962

W,, = 9,4413

wc.q ; 0ft4tr3

| = 0,333 \""4 h4

s:ltrs ,l z) tu3'66/sq6 Llftl

\t 
\5 = 3o40,) L1l6

t pt7,.)

(tn*-lr\

lv
w(S o qYt4l
Wtrr t O,'llot

r^/)

(q)


